Roll No. 245127454

Regn. No. 24-DEO-2504

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SURUCHI DAWAR
Father's Name : PK BHARDWAJ
Mother's Name : SUMAN BHARDWAJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	46 20	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	34 15	40AG	100	С	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	30 13	40AG	100	С	5	04.0	20.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	29 13	40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	30 13	40AG	100	С	5	04.0	20.0
	TOTAL	0243		0500			20.0	112.0
	GRAND TOTAL	0243		0500			20.0	112.0

RESULT: PASSED AND HAS OBTAINED: SGPA 5.60

		(Cle	rk)	(Assistant)	
Checked by	1.		2	 	
KURUKSHET	TERA				
DATED:	JUN 26,2	2025			



Roll No. 245127458

Regn. No. 24-DEO-2506

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : PAPU KUMAR DAS Father's Name : MANOHAR DAS Mother's Name : SHAILO DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 13	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 22	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	53 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0370		0500			20.0	172.0
	GRAND TOTAL	0370		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

·		(Cle	rk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127459

Regn. No. 24-DEO-2507

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RAVINDER
Father's Name : MANOJ
Mother's Name : REENA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	35	9	40AG	100	С	5	04.0	20.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	32	14	40AG	100	С	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	33	15	40AG	100	С	5	04.0	20.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	29	13	40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	35	15	40AG	100	В	6	04.0	24.0
	TOTAL		0230		0500			20.0	104.0
	GRAND TOTAL		0230		0500			20.0	104.0

RESULT: PASSED AND HAS OBTAINED: SGPA 5.20

		(Cl	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245127460

Regn. No. 24-DEO-2508

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : RISHABH BARSOD
Father's Name : GULAB SINGH
Mother's Name : LABHO DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	55 21	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	55 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 25	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 21	40AG	100	А	8	04.0	32.0
	TOTAL	0381		0500			20.0	172.0
	GRAND TOTAL	0381		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

			(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127463

24-DEO-2510 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RAKHI VERMA

: RADHEY SHYAM MANHAS Father's Name

: KANTA MANHAS Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	41	20	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	27	22	40AG	100	С	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45	25	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	37	24	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	37	20	40AG	100	B+	7	04.0	28.0
	TOTAL		0298		0500			20.0	136.0
	GRAND TOTAL		0298		0500			20.0	136.0

PASSED AND HAS OBTAINED: RESULT: SGPA 6.80

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127465

24-DEO-2511 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : LEENA E : EDWIN Father's Name

: SUNDARI EDWIN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	58 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	52 27	40AG	100	A+	9	04.0	36.0
	TOTAL	039	1	0500			20.0	176.0
	GRAND TOTAL	039:	L	0500			20.0	176.0

PASSED AND HAS OBTAINED: SGPA 8.80 RESULT:

DATED:	JUN	26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127466

24-DEO-2512 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SAKSHI JANGRA

: RAJESH Father's Name : KAMLESH Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 29	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 25	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	46 12	40AG	100	B+	7	04.0	28.0
	TOTAL	0363		0500			20.0	168.0
	GRAND TOTAL	0363		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127467

Regn. No. 24-DEO-2513

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AJAY KUMAR
Father's Name : DAYANAND
Mother's Name : HIRA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	46 22	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	53 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44 26	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	48 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0361		0500			20.0	168.0
	GRAND TOTAL	0361		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)



Roll No. 245127468

Regn. No. 24-DEO-2514

$\label{eq:result-cum-detailed marks card} \\ \text{MASTER OF ART SEMESTER-01 EXAM}: \text{ MAR- } 2025 \\$

(ENGLISH-CBCS-CDOE)

Name : HIMANI JAIN
Father's Name : ANIL JAIN
Mother's Name : POONAM JAIN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	44 18	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	44 18	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45 23	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	39 21	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	51 19	40AG	100	А	8	04.0	32.0
	TOTAL	0322		0500			20.0	148.0
	GRAND TOTAL	0322		0500			20.0	148.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.40

·		(Cle	rk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127469

Regn. No. 24-DEO-2515

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : KUSUM LATA
Father's Name : BAIJ NATH
Mother's Name : RAJ DULARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 27	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	28 22	40AG	100	В	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	47 21	40AG	100	А	8	04.0	32.0
	TOTAL	0338		0500			20.0	160.0
	GRAND TOTAL	0338		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

			(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED :	JUN 26,2	2025			

Data of issue

Banne

	CONTROL	LER OF	EXAMIN	IATIONS
--	---------	--------	--------	---------

Roll No. 245127473

24-DEO-2516

Regn. No. RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : ANITA DASH

: BIRANCHI NARAYAN DASH Father's Name

: KAMALA DASH Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 28	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	49 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0394		0500			20.0	176.0
	GRAND TOTAL	0394		0500			20.0	176.0

PASSED AND HAS OBTAINED: SGPA 8.80 RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245127476

24-DEO-2517 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SHILPA MARIK : ASOKE MARIK Father's Name : KAKALI MARIK Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	58 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	53 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	53 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0399		0500			20.0	180.0
	GRAND TOTAL	0399		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1. (Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245127477

24-DEO-2518 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ANJU U

: SANJEEV KUMAR Father's Name : SUMAN RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	23	17		40AG	100	Р	4	04.0	16.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	29	6	F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	33	7	*	40AG	100	Р	4	04.0	16.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	27	8	F	40AG	100	F	0	04.0	0
5	MENL-515 STUDY OF GENRE: FICTION	28	12		40AG	100	Р	4	04.0	16.0
	TOTAL		*	**		0500			20.0	048.0
									20.0	48.0

RESULT: RE - TILL MAR- 2027 IN: MENL-512 MENL-514

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127478

Regn. No. 24-DEO-2519

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RICHA SOOD
Father's Name : HANSRAJ SOOD
Mother's Name : NEELAM SOOD

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	45 26	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	58 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0392		0500			20.0	172.0
	GRAND TOTAL	0392		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

		(Cle	rk)	(Assistant)	
Checked by	1.		2	 	
KURUKSHET	TERA				
DATED:	JUN 26,2	2025			



Roll No. 245127481

Regn. No. 24-DEO-2521

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : HIMANI UNKNOWN
Father's Name : SUSHIL KUMAR
Mother's Name : BIMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	50 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0387		0500			20.0	180.0
	GRAND TOTAL	0387		0500			20.0	180.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025	
KURUKSHET	ERA	
Checked by	1.	2

(Clerk)

Banus

CONTROL		VITUNIC

Data of issue _____

Roll No. 245127486

Regn. No. 24-DEO-2523

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : VIKRAM ATMA RAM DHAYAL

Father's Name : ATMA RAM DHAYAL Mother's Name : SAVITRI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	44 26	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44 27	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	54 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0371		0500			20.0	172.0
	GRAND TOTAL	0371		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

		(C	lerk)		(Assista	int)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	2025					



Roll No. 245127487

Regn. No. 24-DEO-2524

$\label{eq:result-cum-detailed marks} \mbox{ CARD} \\ \mbox{MASTER OF ART SEMESTER-01 EXAM}: \mbox{ MAR- 2025} \\$

(ENGLISH-CBCS-CDOE)

Name : KAPIL KUMAR
Father's Name : RAJESH KUMAR
Mother's Name : SUVIDHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	46 20	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	38 17	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 20	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 19	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	42 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0309		0500			20.0	148.0
	GRAND TOTAL	0309		0500			20.0	148.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.40

		(Cle	erk)		(A	Assistant)	
Checked by	1			2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					



Roll No. 245127489

Regn. No. 24-DEO-2525

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AVINASH YADAV
Father's Name : RAMNIWAS YADAV
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	43 19	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	39 17	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45 20	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 18	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	35 15	40AG	100	В	6	04.0	24.0
	TOTAL	0293		0500			20.0	140.0
	GRAND TOTAL	0293		0500			20.0	140.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

		(0	Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245127491

Regn. No. 24-DEO-2526

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MUSKAN
Father's Name : JITENDER
Mother's Name : SARITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	42	18			40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	29	11	+	k	40AG	100	Р	4	04.0	16.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	32	14			40AG	100	С	5	04.0	20.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	29	13			40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	30	13			40AG	100	С	5	04.0	20.0
	TOTAL		023	31			0500			20.0	104.0
	GRAND TOTAL		023	31			0500			20.0	104.0

RESULT: PASSED AND HAS OBTAINED: SGPA 5.20

DATED:	JUN 26,202	25		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)

Banne

CONTROLLER OF EXAMIN	AHONS
----------------------	-------

Data of issue _____

Roll No. 245127493

24-DEO-2527 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : BHAKTI VIJAY DOSHI

: VIJAY Father's Name : JYOTI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 26	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 29	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 22	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 22	40AG	100	А	8	04.0	32.0
	TOTAL	0382		0500			20.0	172.0
	GRAND TOTAL	0382		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127494

24-DEO-2528 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : PREETI : BALWAN Father's Name : SEEAM DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	28	12	*	40AG	100	Р	4	04.0	16.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	32	14		40AG	100	С	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	35	15		40AG	100	В	6	04.0	24.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	08	4	F	40AG	100	F	0	04.0	0
5	MENL-515 STUDY OF GENRE: FICTION	12	6	F	40AG	100	F	0	04.0	0
	TOTAL		:	***		0500			20.0	060.0
									20.0	60.0

RE - TILL MAR- 2027 IN: MENL-514 MENL-515 RESULT:

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

Roll No. 245127496

24-DEO-2529 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RESHU GABA : SURESH GABA Father's Name : LATA GABA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 24	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	52 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0391		0500			20.0	180.0
	GRAND TOTAL	0391		0500			20.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED:	JUN 26,2025		
KURUKSHET	ERA		

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 245127500

24-DEO-2532 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SAVITA DEVI : RAMPHAL Father's Name : LAXMI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	28	20		40AG	100	С	5	04.0	20.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	24	16	*	40AG	100	Р	4	04.0	16.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	19	17	F	40AG	100	F	0	04.0	0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	22	18	*	40AG	100	Р	4	04.0	16.0
5	MENL-515 STUDY OF GENRE: FICTION	09	20	F	40AG	100	F	0	04.0	0
	TOTAL	***			0500			20.0	052.0	
									20.0	52.0

RESULT: RE - TILL MAR- 2027 IN: MENL-513 MENL-515

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

Roll No. 245127501

24-DEO-2533 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : JATIN

: PARMJEET SINGH Father's Name

: NIRMALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks O	btained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	45 1 ⁻	7	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 19	9	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 24	4	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 2	1	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 20	0	40AG	100	А	8	04.0	32.0
	TOTAL		0342		0500			20.0	156.0
	GRAND TOTAL		0342		0500			20.0	156.0

PASSED AND HAS OBTAINED: SGPA 7.80 RESULT:

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127502

24-DEO-2534 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : CHIRAG YADAV Father's Name : NARENDRA YADAV : MUNNI DEVI YADAV Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	d	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	32	14		40AG	100	С	5	04.0	20.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	00	AB	F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48	21		40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44	19		40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	35	15		40AG	100	В	6	04.0	24.0
	TOTAL		***	:		0500			20.0	104.0
									20.0	104.0

RESULT: RE - TILL MAR- 2027 IN: MENL-512

DATED:	JUN 26,2025	
KURUKSHE	TERA	

Data of issue

Checked by 1.

Roll No. 245127505

24-DEO-2535 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : PALLAVI NAGAPPA

: NAGAPPA Father's Name : REKHA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	40	18		40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	36	16		40AG	100	В	6	04.0	24.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	22	10	F	40AG	100	F	0	04.0	0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	35	15		40AG	100	В	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	42	18		40AG	100	B+	7	04.0	28.0
	TOTAL	***			0500			20.0	104.0	
									20.0	104.0

RESULT: RE - TILL MAR- 2027 IN: MENL-513

DATED:	JUN 26,2025	
KURUKSHE	TERA	

Data of issue

Checked by 1.

Roll No. 245127513

Regn. No. 24-DEO-2537

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RITU RANI
Father's Name : JORA SINGH
Mother's Name : USHA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 22	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 25	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 27	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 22	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0367		0500			20.0	164.0
	GRAND TOTAL	0367		0500			20.0	164.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

DATED :	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

(Clerk)

Data of issue

Banne

Roll No. 245127514

Regn. No. 24-DEO-2538

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SAUMYA SINGH
Father's Name : RAMAVTAR SINGH
Mother's Name : SHIKHA SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	58 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	57 25	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 29	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	54 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	57 28	40AG	100	0	10	04.0	40.0
	TOTAL	0418		0500			20.0	188.0
	GRAND TOTAL	0418		0500			20.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

			(Clerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banan

CONTROLLE	R OF	EXAMIN	IATIONS
-----------	------	--------	---------

Roll No. 245127523

Regn. No. 24-DEO-2541

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SHAH ALAM
Father's Name : GULAM SABIR
Mother's Name : SARVAREE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 24	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0388		0500			20.0	176.0
	GRAND TOTAL	0388		0500			20.0	176.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

DATED:	JUN 26,2025	
KURUKSHET	ERA	
Checked by	1.	2

(Clerk)

Data of issue

Banne

Roll No. 245127524

Regn. No. 24-DEO-2542

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : MANJU CHAHAL
Father's Name : RAMNIWAS
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 25	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 27	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	49 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0384		0500			20.0	176.0
	GRAND TOTAL	0384		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

		(0	Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245127527

Regn. No. 24-DEO-2543

$\label{eq:result-cum-detailed marks card} \\ \text{MASTER OF ART SEMESTER-01 EXAM}: \text{ MAR- } 2025 \\$

(ENGLISH-CBCS-CDOE)

Name : MAHESHWARI J J
Father's Name : JANARDHANAM
Mother's Name : LAKSHMI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42 21	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	42 28	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 23	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	48 24	40AG	100	А	8	04.0	32.0
	TOTAL	0352		0500			20.0	160.0
	GRAND TOTAL	0352		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 26,20)25			
KURUKSHET	ERA				
Checked by	1		2.		
		(Clerk)		(Assistant)	

Banne

CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 245127528

Regn. No. 24-DEO-2544

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : VANSHIKA Father's Name : TEJPAL

Mother's Name

: BABITA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	39 21	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 22	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45 20	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 22	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	40 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0331		0500			20.0	156.0
	GRAND TOTAL	0331		0500			20.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.80

		(Cle	rk)	(/	Assistant)	
Checked by	1.		2			
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



CONTROLLER OF EXAM	INATIONS
--------------------	----------

Data of issue _____

Roll No. 245127529

24-DEO-2545 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : GEHNA BHARDWAJ

: SATYA NARAYAN BHARDWAJ Father's Name

: MEENA BHARDWAJ Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42 18	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45 23	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 23	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	48 24	40AG	100	А	8	04.0	32.0
	TOTAL	0346		0500			20.0	160.0
	GRAND TOTAL	0346		0500			20.0	160.0

PASSED AND HAS OBTAINED: RESULT: SGPA 8.00

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127531

Regn. No. 24-DEO-2546

$\label{eq:result-cum-detailed marks card} \\ \text{MASTER OF ART SEMESTER-01 EXAM}: \text{ MAR- } 2025 \\$

(ENGLISH-CBCS-CDOE)

Name : YOGYATA SHARMA
Father's Name : LOVEKESH KUMAR
Mother's Name : PADMAJA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	60 26	40AG	100	0	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	60 26	40AG	100	0	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	53 27	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	58 27	40AG	100	0	10	04.0	40.0
	TOTAL	0418		0500			20.0	192.0
	GRAND TOTAL	0418		0500			20.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.60

			(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Banne

CONTROLL	ER OF E	EXAMIN	ATIONS

Data of issue _____

Roll No. 245127534

Regn. No. 24-DEO-2548

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : AVINESH
Father's Name : SUNIL DUTT
Mother's Name : SUNITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	36 19	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	31 17	40AG	100	С	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	41 18	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	34 12	40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	49 24	40AG	100	А	8	04.0	32.0
	TOTAL	0281		0500			20.0	128.0
	GRAND TOTAL	0281		0500			20.0	128.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 6.40

DATED:	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2	

(Clerk)

Banne

|--|

Data of issue _____

Roll No. 245127536

24-DEO-2549 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : ANINDITA KUNDU : LATE INDRAJIT KUNDU Father's Name

: BINATA KUNDU Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 16	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	38 17	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	41 18	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	29 13	40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	36 16	40AG	100	В	6	04.0	24.0
	TOTAL	0277		0500			20.0	132.0
	GRAND TOTAL	0277		0500			20.0	132.0

PASSED AND HAS OBTAINED: SGPA 6.60 RESULT:

> DATED: JUN 26,2025

Data of issue

KURUKSHETERA

Checked by 1. (Clerk) (Assistant)

Roll No. 245127537

24-DEO-2550 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : KAWAL NARANG

: JOGINDER SINH NARANG Father's Name

: JAGJIT KAUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	49 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0397		0500			20.0	180.0
	GRAND TOTAL	0397		0500			20.0	180.0

PASSED AND HAS OBTAINED: SGPA 9.00 RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127538

24-DEO-2551 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MANPREET KAUR : KARNAIL SINGH Father's Name : GURPREET KAUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	i	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	22	10	F	40AG	100	F	0	04.0	0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	28	12		40AG	100	P	4	04.0	16.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	41	18		40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	34	15		40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	46	20		40AG	100	А	8	04.0	32.0
	TOTAL		***			0500			20.0	096.0
									20.0	96.0

RESULT: RE - TILL MAR- 2027 IN: MENL-511

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127539

Regn. No. 24-DEO-2552

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SALONI
Father's Name : ANIL VERMA
Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 19	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 14	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 18	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 24	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0356		0500			20.0	160.0
	GRAND TOTAL	0356		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk	:)	(Assistan	t)
Checked by	1.		2.		
KURUKSHET	TERA				
DATED:	JUN 26,2	2025			



Roll No. 245127544

Regn. No. 24-DEO-2553

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : NIDHI MADHWAL
Father's Name : ROOP CHANDRA
Mother's Name : BEERA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	44	27		40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48	20		40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49	29		40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	AB	28	F	40AG	100	F	0	04.0	0
5	MENL-515 STUDY OF GENRE: FICTION	AB	27	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0500			20.0	100.0
									20.0	100.0

RESULT: RE - TILL MAR- 2027 IN: MENL-514 MENL-515

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED:	JUN 26,	2025				

Banan

|--|

Data of issue _____

Roll No. 245127545

Regn. No. 24-DEO-2554

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RAHUL THAKUR
Father's Name : RANJIT SINGH
Mother's Name : BIMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57	26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42	27	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	55	28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48	29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55	27	40AG	100	A+	9	04.0	36.0
	TOTAL		0394		0500			20.0	176.0
	GRAND TOTAL		0394		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

		(Cler	·k)	(Assistar	nt)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



CONTROLLER OF EXAMIN	AHONS
----------------------	-------

Roll No. 245127550

24-DEO-2556 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : VIKRAM

: DHARAMBIR SINGH Father's Name

: SHANTI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 24	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	55 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	47 26	40AG	100	А	8	04.0	32.0
	TOTAL	0393		0500			20.0	172.0
	GRAND TOTAL	0393		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127554

24-DEO-2558 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ASHA YADAV

: RAM SAMUJH YADAV Father's Name

: GEETA YADAV Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obta	ained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	45	9		40AG	100	В	6	04.0	24.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	23	9	F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	05	8	F	40AG	100	F	0	04.0	0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	36	8		40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	46	9		40AG	100	B+	7	04.0	28.0
	TOTAL			***		0500			20.0	072.0
									20.0	72.0

MENL-512 MENL-513 RE - TILL MAR- 2027 IN: RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127555

24-DEO-2559 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ARPITA MOHAPATRA Father's Name : LATE BN PATNAIK

Mother's Name : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

: LATE PRATIMA PATNAIK

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 20	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	40 18	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45 20	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	38 17	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	52 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0323		0500			20.0	156.0
	GRAND TOTAL	0323		0500			20.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.80

DATED :	JUN 26,2025	
KURUKSHET	TERA	

Data of issue

Checked by 1. (Clerk) (Assistant)

Roll No. 245127556

Regn. No. 24-DEO-2560

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : PRIYA DEVI
Father's Name : MEWA RAM
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 22	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 24	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 25	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	44 26	40AG	100	А	8	04.0	32.0
	TOTAL	0362		0500			20.0	168.0
	GRAND TOTAL	0362		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

DATED:	JUN 26,20)25							
KURUKSHETERA									
Checked by	1		2.						
		(Clerk)		(Assistant)					

Banne

Roll No. 245127558

Regn. No. 24-DEO-2561

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MANDEEP KAUR
Father's Name : MAHENDER SINGH
Mother's Name : JAGROOP KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obta	nined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	45	8		40AG	100	В	6	04.0	24.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	27	8	F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	39	9		40AG	100	С	5	04.0	20.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	34	6	*	40AG	100	Р	4	04.0	16.0
5	MENL-515 STUDY OF GENRE: FICTION	38	10		40AG	100	С	5	04.0	20.0
	TOTAL		:	***		0500			20.0	080.0
									20.0	80.0

RESULT: RE - TILL MAR- 2027 IN: MENL-512

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Banne

Roll No. 245127566

24-DEO-2562 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AMIT KUMAR : MEHAR CHAND Father's Name

: SAROJ Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 20	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57 28	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 26	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0377		0500			20.0	176.0
	GRAND TOTAL	0377		0500			20.0	176.0

PASSED AND HAS OBTAINED: SGPA 8.80 RESULT:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127571

24-DEO-2564 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : GUNJAN

: BALJEET SINGH Father's Name

: SHEETAL Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	38	26		40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	AB	AB	F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	AB	AB	F	40AG	100	F	0	04.0	0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	28	12	*	40AG	100	Р	4	04.0	16.0
5	MENL-515 STUDY OF GENRE: FICTION	26	23		40AG	100	С	5	04.0	20.0
	TOTAL		*:	**		0500			20.0	064.0
									12.0	64.0

RESULT: RE - TILL MAR- 2027 IN: MENL-512 MENL-513

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127574

Regn. No. 24-DEO-2565

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : MONIKA

Father's Name : JITENDER SHARMA Mother's Name : MADHU BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 20	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	46 27	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 29	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0382		0500			20.0	168.0
	GRAND TOTAL	0382		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

•			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ΓERA					
DATED:	JUN 26,2	2025				



Roll No. 245127577

24-DEO-2567 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : DEEPA

: LAKHAN LAL Father's Name : SHASHI RASTOGI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 20	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 23	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 23	40AG	100	А	8	04.0	32.0
	TOTAL	0367		0500			20.0	168.0
	GRAND TOTAL	0367		0500			20.0	168.0

PASSED AND HAS OBTAINED: SGPA 8.40 RESULT:

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127578

Regn. No. 24-DEO-2568

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : ALKA

Father's Name : RAMESH KUMAR Mother's Name : BIMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 23	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 27	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48 27	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	49 24	40AG	100	А	8	04.0	32.0
	TOTAL	0379		0500			20.0	172.0
	GRAND TOTAL	0379		0500			20.0	172.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

DATED : JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk)

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245127580

Regn. No. 24-DEO-2569

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : MUDITA PANDEY
Father's Name : ASHISH PANDEY
Mother's Name : RICHA PANDEY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	46 24	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42 23	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	45 26	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 25	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0352		0500			20.0	164.0
	GRAND TOTAL	0352		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245127581

Regn. No. 24-DEO-2570

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : PRIYA BEDI
Father's Name : RAKESH BEDI
Mother's Name : MS EKTA BEDI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 19	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 19	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 27	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 25	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	52 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0368		0500			20.0	172.0
	GRAND TOTAL	0368		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

,	_	(Cle	 rk)	(4	Assistant)
Checked by	1.		2	2	
KURUKSHET	ERA				
DATED:	JUN 26,2	025			



Roll No. 245127582

Regn. No. 24-DEO-2571

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : KASHISH BATRA
Father's Name : PANKAJ BATRA
Mother's Name : NEELAM RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	47 22	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	45 23	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	62 29	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 28	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	49 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0375		0500			20.0	172.0
	GRAND TOTAL	0375		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

		(Clerk)		(Assistant)			
Checked by	1.			2				
KURUKSHETERA								
DATED:	JUN 26,2	025						



Roll No. 245127586

Regn. No. 24-DEO-2572

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SYED AZBAA JEELANI Father's Name : SAYED JEELANI BASHA

Mother's Name : REHANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	55 30	40AG	100	0	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57 29	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	53 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0412		0500			20.0	188.0
	GRAND TOTAL	0412		0500			20.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

DATED:	JUN 26,2025				
KURUKSHETERA					
Checked by	1		2.		
		(Clerk)		(Assistant)	

Banne

CONTROLLER OF EXAM	INATIONS
--------------------	----------

Roll No. 245127589

24-DEO-2573 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SAPNA : PATI RAM Father's Name

: MEENA SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	51 18	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 20	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 19	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	46 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0343		0500			20.0	156.0
	GRAND TOTAL	0343		0500			20.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.80

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127592

24-DEO-2574

 ${\sf RESULT\text{-}cum\text{-}DETAILED\;MARKS\;CARD} \hspace{1.5cm} {\sf Regn.\;No.}$

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : KAPIL
Father's Name : RAVINDER
Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	35 30	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 29	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	49 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0374		0500			20.0	172.0
	GRAND TOTAL	0374		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

		(Cle	erk)		(Ass	sistant)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					



Roll No. 245127596

24-DEO-2575 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SAHIL : JARNAIL Father's Name : SAROJ Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52	26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51	27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53	27	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44	27	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	55	16	40AG	100	А	8	04.0	32.0
	TOTAL		0378		0500			20.0	172.0
	GRAND TOTAL		0378		0500			20.0	172.0

PASSED AND HAS OBTAINED: SGPA 8.60 RESULT:

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

Roll No. 245127597

24-DEO-2576 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : BHUMIKA

: DEVENDER SINGH Father's Name : SEEMA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 28	40AG	100	0	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	55 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 29	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	56 29	40AG	100	0	10	04.0	40.0
	TOTAL	0410		0500			20.0	184.0
	GRAND TOTAL	0410		0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245127598

24-DEO-2577 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : AJAY CHHIKARA : PARDEEP SINGH Father's Name

: KUSUM Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	52 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	50 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0403		0500			20.0	180.0
	GRAND TOTAL	0403		0500			20.0	180.0

PASSED AND HAS OBTAINED: SGPA 9.00 RESULT:

DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245127599

Regn. No. 24-DEO-2578

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : LAKHVIR SINGH
Father's Name : RAM KUMAR
Mother's Name : BASANTI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	46 23	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	43 22	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	38 11	40AG	100	С	5	04.0	20.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44 27	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	43 23	40AG	100	А	8	04.0	32.0
	TOTAL	0320		0500			20.0	148.0
	GRAND TOTAL	0320		0500			20.0	148.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.40

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245127601

Regn. No. 24-DEO-2580

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : MEGHNA SHARMA
Father's Name : RAJESH KUMAR
Mother's Name : DIMPLE SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	44 23	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 15	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57 21	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 14	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 16	40AG	100	А	8	04.0	32.0
	TOTAL	0342		0500			20.0	164.0
	GRAND TOTAL	0342		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245127604

24-DEO-2581 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : KM GAURI

: VIJAYPAL SINGH Father's Name : DIPEEKA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	51 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	58 29	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	49 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0399		0500			20.0	184.0
	GRAND TOTAL	0399		0500			20.0	184.0

PASSED AND HAS OBTAINED: SGPA 9.20 RESULT:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127608

Regn. No. 24-DEO-2583

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : VINUSHA CHHABRA Father's Name : VINOD CHHABRA

Mother's Name : NEERAJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	58 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 22	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 22	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 21	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 22	40AG	100	А	8	04.0	32.0
	TOTAL	0367		0500			20.0	164.0
	GRAND TOTAL	0367		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245127610

24-DEO-2585 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : MEGHA

: PAWAN KUMAR Father's Name

: YOGITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 25	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44 26	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	54 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0379		0500			20.0	172.0
	GRAND TOTAL	0379		0500			20.0	172.0

PASSED AND HAS OBTAINED: SGPA 8.60 RESULT:

DATED :	JUN 26,2025
KURUKSHE	TERA

Data of issue

Checked by 1.

Roll No. 245127611

Regn. No. 24-DEO-2586

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : PARMOD KUMAR
Father's Name : SUBHASH CHAND
Mother's Name : KAMLESH KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0399		0500			20.0	180.0
	GRAND TOTAL	0399		0500			20.0	180.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025	
KURUKSHET	ERA	
Checked by	1.	2

(Clerk)

Data of issue

Banne

CONTROL	I ED	OE	$\vdash \lor \land$	MINI	ATIONS
(())()	ırĸ	() -	$- \times \Delta$	101 1 101	Δ 1 1 () Ω

Roll No. 245127615

24-DEO-2587 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : BHARGAV SINGH : NARESH KUMAR Father's Name

: NISHA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54	24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	53	28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50	29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46	29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	50	28	40AG	100	A+	9	04.0	36.0
	TOTAL		0391		0500			20.0	180.0
	GRAND TOTAL		0391		0500			20.0	180.0

PASSED AND HAS OBTAINED: SGPA 9.00 RESULT:

DATED:	JUN 26,2025	
KLIBLIKSHI	TERΔ	

Data of issue

Checked by 1.

Roll No. 245127617

Regn. No. 24-DEO-2589

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : FATIMA TAJ
Father's Name : SIRAJ TAJ
Mother's Name : TAHIRA TAJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	47 23	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 27	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0382		0500			20.0	172.0
	GRAND TOTAL	0382		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245127618

Regn. No. 24-DEO-2590

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : JYOTI SIRSWAL
Father's Name : RAJBIR SIRSWAL
Mother's Name : SANTOSH SIRSWAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	54 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0400		0500			20.0	180.0
	GRAND TOTAL	0400		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Cle	erk)		(Ass	sistant)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					



Roll No. 245127620

Regn. No. 24-DEO-2591

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : GURVINDER SINGH
Father's Name : MANJEET SINGH
Mother's Name : MEENAKSHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	47 20	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57 29	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 29	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0381		0500			20.0	176.0
	GRAND TOTAL	0381		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

Checked by	1.		(Clerk)	_ 2	(Assistant)
KURUKSHET				2	
DATED :	JUN 26,2	2025			

Banan

Data of issue _____

Roll No. 245127623

Regn. No. 24-DEO-2592

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : RITIKA CHAUDHRY
Father's Name : KATTAR SINGH
Mother's Name : REENA CHAUDHARY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	60 26	40AG	100	0	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	52 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0404		0500			20.0	180.0
	GRAND TOTAL	0404		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk	<)	(Assista	ant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED :	JUN 26,2	(025			



Roll No. 245127624

Regn. No. 24-DEO-2593

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SHIVANI
Father's Name : BIJENDER
Mother's Name : MEENA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 28	40AG	100	0	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57 29	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 28	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	54 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0403		0500			20.0	184.0
	GRAND TOTAL	0403		0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

		(Cle	erk)		(Assistant)	
Checked by	1			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245127629

Regn. No. 24-DEO-2595

$\label{eq:result-cum-detailed marks} \mbox{ CARD} \\ \mbox{MASTER OF ART SEMESTER-01 EXAM}: \mbox{ MAR- 2025} \\$

(ENGLISH-CBCS-CDOE)

Name : SUMIT
Father's Name : RAJBIR
Mother's Name : KRISHNA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 25	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 27	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	34 20	40AG	100	В	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	44 25	40AG	100	А	8	04.0	32.0
	TOTAL	0344		0500			20.0	156.0
	GRAND TOTAL	0344		0500			20.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.80

			(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHE	ΓERA				
DATED:	JUN 26,2	2025			

Banne

CONTROLLER OF EXAMIN	AHONS
----------------------	-------

Roll No. 245127630

Regn. No. 24-DEO-2596

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ASHISH
Father's Name : RAMESH
Mother's Name : MAMTA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 21	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	36 16	40AG	100	В	6	04.0	24.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 21	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	35 15	40AG	100	В	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	42 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0299		0500			20.0	140.0
	GRAND TOTAL	0299		0500			20.0	140.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

		(Cler	·k)	(Assist	rant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127633

24-DEO-2597 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SHIVNATH BHAURAO DAHIPHALE

: BHAURAO Father's Name : DEUBAI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	41 25	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	56 23	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 30	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	54 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0384		0500			20.0	176.0
	GRAND TOTAL	0384		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 245127638

24-DEO-2599 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : DEEPIKA

: SURJEET SINGH Father's Name : KAMLESH DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 16	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42 15	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 12	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 19	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	54 19	40AG	100	А	8	04.0	32.0
	TOTAL	0332		0500			20.0	156.0
	GRAND TOTAL	0332		0500			20.0	156.0

PASSED AND HAS OBTAINED: SGPA 7.80 RESULT:

DATED:	JUN 26,2025								
LULDI ILICOLIETED A									

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245127641

24-DEO-2600 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ASHISH

: DHOOP SINGH Father's Name

: KAVITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	13	17	F	40AG	100	F	0	04.0	0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	19	14	F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	20	27		40AG	100	С	5	04.0	20.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	25	24		40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	26	18		40AG	100	С	5	04.0	20.0
	TOTAL		*	**		0500			20.0	060.0
									20.0	60.0

RESULT: RE - TILL MAR- 2027 IN: MENL-511 MENL-512

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127642

24-DEO-2601 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MEENU

: JAGDISH KUMAR Father's Name

: GEETA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56	18	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	46	19	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48	26	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49	24	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	55	20	40AG	100	A+	9	04.0	36.0
	TOTAL		0361		0500			20.0	164.0
	GRAND TOTAL		0361		0500			20.0	164.0

PASSED AND HAS OBTAINED: SGPA 8.20 RESULT:

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127643

24-DEO-2602 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ANJALI SINGH : AJAY KUMAR Father's Name : ANJU DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 21	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 22	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 21	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	58 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0371		0500			20.0	168.0
	GRAND TOTAL	0371		0500			20.0	168.0

PASSED AND HAS OBTAINED: SGPA 8.40 RESULT:

DATED:	JUN 26,2025		
KURUKSHET	ERA		

Data of issue

Checked by 1. (Clerk) (Assistant)

Roll No. 245127644

24-DEO-2603 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SANJANA

: RAKESH KAMBOJ Father's Name : KAVITA RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	44	19		40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	21	9	F	40AG	100	F	0	04.0	0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	23	10	F	40AG	100	F	0	04.0	0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	33	15		40AG	100	С	5	04.0	20.0
5	MENL-515 STUDY OF GENRE: FICTION	32	14		40AG	100	С	5	04.0	20.0
	TOTAL		*	**		0500			20.0	068.0
									20.0	68.0

RESULT: RE - TILL MAR- 2027 IN: MENL-512 MENL-513

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 245127650

24-DEO-2605 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SAHIL

: SUDESH KUMAR Father's Name : ANITA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 24	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	54 22	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 20	40AG	100	А	8	04.0	32.0
	TOTAL	0360		0500			20.0	168.0
	GRAND TOTAL	0360		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Regn. No.

Roll No. 245127651

24-DEO-2606

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SHUBHAM
Father's Name : RAJESH VATS
Mother's Name : KUSUM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 21	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	46 20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 25	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	53 22	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0369		0500			20.0	172.0
	GRAND TOTAL	0369		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

		(Clerk)		(Assistant)	
Checked by	1		2.	-	
KURUKSHET	ERA				
DATED:	JUN 26,20	25			



Roll No. 245127652

Regn. No. 24-DEO-2607

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ASHWINI SWETA SINGH
Father's Name : ANIL KUMAR SINGH
Mother's Name : NEELAM SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	45 21	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	55 30	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 15	40AG	100	А	8	04.0	32.0
	TOTAL	0379		0500			20.0	176.0
	GRAND TOTAL	0379		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,	2025				



Roll No. 245127655

Regn. No. 24-DEO-2608

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SAKSHI

Father's Name : UMESH KUMAR Mother's Name : PARVEEN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	51 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	56 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0402		0500			20.0	180.0
	GRAND TOTAL	0402		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED :	JUN 26,2025	
KURUKSHE	ΓERA	

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Banne

Roll No. 245127656

24-DEO-2609 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : KOMAL RANI : SHAMSHER SINGH Father's Name : POONAM DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55	19	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50	17	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57	27	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46	24	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51	23	40AG	100	А	8	04.0	32.0
	TOTAL		0369		0500			20.0	164.0
	GRAND TOTAL		0369		0500			20.0	164.0

PASSED AND HAS OBTAINED: SGPA 8.20 RESULT:

DATED :	JUN 26,2025	
KURUKSHET	ERA	
Checked by	1	2

Data of issue

Roll No. 245127660

24-DEO-2610 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AKRITI

: VIRENDER VERMA Father's Name

: PINKI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 25	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0382		0500			20.0	180.0
	GRAND TOTAL	0382		0500			20.0	180.0

PASSED AND HAS OBTAINED: SGPA 9.00 RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127663

24-DEO-2611 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SABBANWAR OMKAR GOPALRAO

: GOPALRAO Father's Name : SUCHITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	46 24	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	40 27	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0365		0500			20.0	172.0
	GRAND TOTAL	0365		0500			20.0	172.0

PASSED AND HAS OBTAINED: SGPA 8.60 RESULT:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.



Roll No. 245127664

24-DEO-2612 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MONIKA

: SURINDER KUMAR Father's Name

: SUNITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 27	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	49 23	40AG	100	А	8	04.0	32.0
	TOTAL	0380		0500			20.0	172.0
	GRAND TOTAL	0380		0500			20.0	172.0

PASSED AND HAS OBTAINED: SGPA 8.60 RESULT:

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 245127666

Regn. No. 24-DEO-2613

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : POOJA
Father's Name : BAJRANGI
Mother's Name : KIRAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56	18	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47	19	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	44	25	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46	27	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	45	22	40AG	100	А	8	04.0	32.0
	TOTAL		0349		0500			20.0	160.0
	GRAND TOTAL		0349		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Cle	erk)		(Ass	sistant)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					



Roll No. 245127667

24-DEO-2614 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : PUNIT CHAHAL : ROHTASH KUMAR Father's Name

: SHEELA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	43 23	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	50 22	40AG	100	А	8	04.0	32.0
	TOTAL	0381		0500			20.0	172.0
	GRAND TOTAL	0381		0500			20.0	172.0

PASSED AND HAS OBTAINED: SGPA 8.60 RESULT:

DATED:	JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127668

24-DEO-2615 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : JADHAV SHANTANU NILKANTH

: NILKANTH Father's Name : SHALINI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	53 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0405		0500			20.0	180.0
	GRAND TOTAL	0405		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

Regn. No.

Roll No. 245127670

24-DEO-2616

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MEHAK DEVI
Father's Name : SATISH KUMAR
Mother's Name : KRISHAN DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	44 15	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	40 15	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 20	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 25	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 19	40AG	100	А	8	04.0	32.0
	TOTAL	0323		0500			20.0	152.0
	GRAND TOTAL	0323		0500			20.0	152.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.60

Criccica by		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245127672

24-DEO-2617 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : POOJA

: RAJENDER SINGH Father's Name

: RENU BALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 19	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42 22	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 26	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	39 23	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	50 21	40AG	100	А	8	04.0	32.0
	TOTAL	0347		0500			20.0	156.0
	GRAND TOTAL	0347		0500			20.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.80

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 245127673

Regn. No. 24-DEO-2618

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SHUBHAM MADAL
Father's Name : VED PRAKASH
Mother's Name : SANTOSH MADAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	58 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 23	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 28	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	28 28	40AG	100	B+	7	04.0	28.0
	TOTAL	0361		0500			20.0	164.0
	GRAND TOTAL	0361		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

		(0	Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

	CONTROL	LER OF	EXAMII	NATIONS
--	---------	--------	--------	---------

Roll No. 245127674

24-DEO-2619 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : BHAVYA TUTEJA : MUNISH TUTEJA Father's Name : ANJANA RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 14	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	59 26	40AG	100	0	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 21	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	53 23	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	56 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0381		0500			20.0	176.0
	GRAND TOTAL	0381		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED	:	JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 245127675

Regn. No. 24-DEO-2620

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ASHISH
Father's Name : JASWANT
Mother's Name : RAJ RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	41 18	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	44 19	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 22	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 18	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	53 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0331		0500			20.0	152.0
	GRAND TOTAL	0331		0500			20.0	152.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.60

Criccica by		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245127676

24-DEO-2621 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SHUBHAM KUMAR

: RAM SINGH Father's Name : SHIMLA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 20	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 19	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0374		0500			20.0	176.0
	GRAND TOTAL	0374		0500			20.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.80

DATED:	JUN 26,2025		
KURUKSHET	ERA		

Data of issue

Checked by 1. (Clerk)

Roll No. 245127678

Regn. No. 24-DEO-2623

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : HARSHMEEP CHAHAL

Father's Name : NATER SINGH Mother's Name : ANEETA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	40 27	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	38 26	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	53 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0360		0500			20.0	168.0
	GRAND TOTAL	0360		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

		(Cle	erk)		(Ass	sistant)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					



Roll No. 245127681

Regn. No. 24-DEO-2624

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AARUSHI MAKHIJANI
Father's Name : NAVEEN MAKHIJANI
Mother's Name : SONIA MAKHIJANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	61 20	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 25	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	21 26	40AG	100	С	5	04.0	20.0
	TOTAL	0359		0500			20.0	160.0
	GRAND TOTAL	0359		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 26,202	25		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)

Data of issue

Banne

CONTROL		OE	$\vdash \lor \land$	MINI	ATIONS
(())()	ırĸ	() -	$- \times \Delta$	101 1 101	Δ 1 1 () Ω

Roll No. 245127684

Regn. No. 24-DEO-2626

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SHREELA BAIDYA
Father's Name : SUDIPTA BAIDYA
Mother's Name : TAPASI BAIDYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	47 25	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	29 25	40AG	100	В	6	04.0	24.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	38 29	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	26 27	40AG	100	В	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	48 24	40AG	100	А	8	04.0	32.0
	TOTAL	0318		0500			20.0	144.0
	GRAND TOTAL	0318		0500			20.0	144.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.20

		(CI	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245127685

Regn. No. 24-DEO-2627

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : ASHU NARWAL
Father's Name : KARAMBIR SINGH
Mother's Name : SUNITA SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	60 25	40AG	100	0	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	45 24	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 27	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	53 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0383		0500			20.0	176.0
	GRAND TOTAL	0383		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

		(Clerl	k)	(Assistant)	
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127689

24-DEO-2629 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RAVI KUMAR Father's Name : VIJAY KUMAR : SHIKSHA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	59 29	40AG	100	0	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	60 28	40AG	100	0	10	04.0	40.0
	TOTAL	0416		0500			20.0	188.0
	GRAND TOTAL	0416		0500			20.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.40

		(Cler	k)	(Assistant)	
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127690

24-DEO-2630 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SONIA

: RAJINDER MEHLA Father's Name

: AMARPATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	51 22	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	43 13	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	43 19	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 18	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	48 21	40AG	100	А	8	04.0	32.0
	TOTAL	0320		0500			20.0	148.0
	GRAND TOTAL	0320		0500			20.0	148.0

PASSED AND HAS OBTAINED: SGPA 7.40 RESULT:

DATED:	JUN	26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127691

Regn. No. 24-DEO-2631

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SEEMA CHAWLA
Father's Name : TILAK RAJ CHAWLA
Mother's Name : SWARNA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	42 22	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	31 25	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 25	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44 26	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0346		0500			20.0	160.0
	GRAND TOTAL	0346		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Cle	erk)		(Ass	sistant)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					



Roll No. 245127692

24-DEO-2632 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SHREYA SAHEJPAL

: NARINDER MOHAN SAHEJPAL Father's Name

: PUSHPA SAHEJPAL Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	59 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	45 22	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	53 26	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	54 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0394		0500			20.0	176.0
	GRAND TOTAL	0394		0500			20.0	176.0

PASSED AND HAS OBTAINED: SGPA 8.80 RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 245127697

24-DEO-2636 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : KRISHAN DAHIYA

: SATPAL Father's Name : JAGMATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 20	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 17	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 19	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	55 17	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0360		0500			20.0	168.0
	GRAND TOTAL	0360		0500			20.0	168.0

PASSED AND HAS OBTAINED: SGPA 8.40 RESULT:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1. (Assistant)

(Clerk)

CONTROLLER OF EXAMINATIONS

Roll No. 245127698

Regn. No. 24-DEO-2637

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AMRITA MEHROKE
Father's Name : AVTAR SINGH
Mother's Name : SATWANT KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	23 18	40AG	100	С	5	04.0	20.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	22 20	40AG	100	С	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	26 26	40AG	100	В	6	04.0	24.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	26 25	40AG	100	В	6	04.0	24.0
5	MENL-515 STUDY OF GENRE: FICTION	32 23	40AG	100	B+	7	04.0	28.0
	TOTAL	0241		0500			20.0	116.0
	GRAND TOTAL	0241		0500			20.0	116.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 5.80

DATED:	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2	

(Clerk)

180000

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245127699

Regn. No. 24-DEO-2638

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ARZOO RANI
Father's Name : NARESH KUNDU
Mother's Name : OM SHREE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	56 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 21	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	55 24	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50 22	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0376		0500			20.0	172.0
	GRAND TOTAL	0376		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

			(Clerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



CONTROLLE	R OF	EXAMIN	NATIONS
-----------	------	--------	---------

Roll No. 245127710

24-DEO-2641 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AAYUSHI

: SURINDER KUMAR Father's Name : POONAM DOGRA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 11	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 21	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 22	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	55 24	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0367		0500			20.0	168.0
	GRAND TOTAL	0367		0500			20.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.40

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127713

Regn. No. 24-DEO-2642

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : POONAM
Father's Name : RAJKUMAR
Mother's Name : PHOOLPATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50	24	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	46	20	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47	29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46	25	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	44	24	40AG	100	А	8	04.0	32.0
	TOTAL		0355		0500			20.0	164.0
	GRAND TOTAL		0355		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

		(Clerk)	_	(Assistant)
Checked by	1.		2	
KURUKSHET	ERA			
DATED:	JUN 26,2025			



Roll No. 245127716

Regn. No. 24-DEO-2644

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RAJAT SHARMA
Father's Name : SATBIR SHARMA
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	42 17	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42 17	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 23	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 23	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0337		0500			20.0	156.0
	GRAND TOTAL	0337		0500			20.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.80

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banus

CONTROL		VITUNIC

Data of issue _____

Roll No. 245127721

24-DEO-2646 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : TISHA

: DALJEET SAINI Father's Name

: KIRAN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57	23	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	53	13	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	57	25	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45	20	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	53	23	40AG	100	A+	9	04.0	36.0
	TOTAL		0369		0500			20.0	172.0
	GRAND TOTAL		0369		0500			20.0	172.0

PASSED AND HAS OBTAINED: SGPA 8.60 RESULT:

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127724

24-DEO-2647 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SURBHI VIRMANI : HARISH VIRMANI Father's Name : KANTA VIRMANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	47 25	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 10	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 14	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 11	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	51 9	40AG	100	B+	7	04.0	28.0
	TOTAL	0309		0500			20.0	144.0
	GRAND TOTAL	0309		0500			20.0	144.0

PASSED AND HAS OBTAINED: SGPA 7.20 RESULT:

DATED:	JUN 26,2025	
KURUKSHE	TFRA	

Data of issue

Checked by 1.

Roll No. 245127728

Regn. No. 24-DEO-2649

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : ROSHNI THAKUR
Father's Name : SHRRAWAN THAKUR
Mother's Name : SUDHA THAKUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	49 23	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	57 29	40AG	100	0	10	04.0	40.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44 29	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	54 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0396		0500			20.0	176.0
	GRAND TOTAL	0396		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245127730

Regn. No. 24-DEO-2650

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MANPREET KAUR
Father's Name : JASWANT SINGH
Mother's Name : HARPREET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	61 27	40AG	100	0	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	55 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	51 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0413		0500			20.0	184.0
	GRAND TOTAL	0413		0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

		(Cle	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				



Roll No. 245127731

24-DEO-2651 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : PRAYEN SANGEETA SUBRAMANIAM

: M SUBRAMANIAM Father's Name

: SUSHILA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 17	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 29	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	55 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 29	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	49 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0378		0500			20.0	172.0
	GRAND TOTAL	0378		0500			20.0	172.0

PASSED AND HAS OBTAINED: RESULT: SGPA 8.60

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245127732

Regn. No. 24-DEO-2652

$\label{eq:result-cum-detailed marks card} \\ \text{MASTER OF ART SEMESTER-01 EXAM}: \text{ MAR- } 2025 \\$

(ENGLISH-CBCS-CDOE)

Name : PRITY SAINI
Father's Name : KARTAR SINGH
Mother's Name : GEETA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 26	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	41 28	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	41 29	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	35 29	40AG	100	B+	7	04.0	28.0
	TOTAL	0352		0500			20.0	160.0
	GRAND TOTAL	0352		0500			20.0	160.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 26,202	5		
KURUKSHET	ERA			
Checked by	1		2.	

(Clerk)

Banan

CONTROLLER OF EXAMINATIONS

Roll No. 245127733

24-DEO-2653 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : RITU SHARMA

: GAJANAND SHARMA Father's Name : SUSHILA SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 20	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 25	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	50 27	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 28	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	53 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0380		0500			20.0	176.0
	GRAND TOTAL	0380		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127734

Regn. No. 24-DEO-2654

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : YAVNIKA
Father's Name : MANOJ KUMAR
Mother's Name : CHARIMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 14	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 16	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 21	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	44 23	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0347		0500			20.0	164.0
	GRAND TOTAL	0347		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

		(Cl	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245127735

Regn. No. 24-DEO-2655

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : ANKIT

Father's Name : RANBIR SINGH Mother's Name : GORA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54 21	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 23	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 28	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	56 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0381		0500			20.0	172.0
	GRAND TOTAL	0381		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

DATED:	JUN 26,2	025			
KURUKSHETERA Checked by 1. 2					
Checked by	1.			_ 2	
			(Clerk)		(Assistant)

Banus

Data of issue _____

Roll No. 245127737

24-DEO-2656 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : GURKIRAT

: SHRI J S SANDHU Father's Name : HARINDER PAL KAUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 24	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	35 20	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	42 29	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	38 29	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	38 28	40AG	100	А	8	04.0	32.0
	TOTAL	0338		0500			20.0	160.0
	GRAND TOTAL	0338		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245127738

24-DEO-2657 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : VANDANA DEVI : MAHENDER SHARMA Father's Name

: SUNITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 21	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 27	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 22	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 25	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 24	40AG	100	А	8	04.0	32.0
	TOTAL	0373		0500			20.0	172.0
	GRAND TOTAL	0373		0500			20.0	172.0

PASSED AND HAS OBTAINED: SGPA 8.60 RESULT:

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127739

24-DEO-2658 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : PANKAJ KUMAR

: RAMOTAR Father's Name : SUNITA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	50 20	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	38 11	40AG	100	С	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	47 19	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	39 26	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	49 23	40AG	100	А	8	04.0	32.0
	TOTAL	0322		0500			20.0	148.0
	GRAND TOTAL	0322		0500			20.0	148.0

PASSED AND HAS OBTAINED: SGPA 7.40 RESULT:

DATED:	JUN 26,2025		
KURUKSHET	ERA		
		_	

Data of issue

Checked by 1.

Roll No. 245127741

24-DEO-2659 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : PARUL SAINI

: SHIAN CHAND SAINI Father's Name

: ASHA SAINI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 10	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	51 12	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 24	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 21	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	49 21	40AG	100	А	8	04.0	32.0
	TOTAL	0344		0500			20.0	156.0
	GRAND TOTAL	0344		0500			20.0	156.0

PASSED AND HAS OBTAINED: RESULT: SGPA 7.80

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127744

Regn. No. 24-DEO-2660

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : POOJA RANI
Father's Name : SURAJ BHAN
Mother's Name : KRISHNA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 28	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	47 26	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	39 28	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0378		0500			20.0	172.0
	GRAND TOTAL	0378		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

		(Cler	k)	(Assistant)	
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245127748

24-DEO-2662 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AADEET SINGH : BALWANT SINGH Father's Name

: SUMAN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtai	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	61 25		40AG	100	0	10	04.0	40.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	57 27		40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56 30		40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 29		40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	59 28		40AG	100	0	10	04.0	40.0
	TOTAL	04	124		0500			20.0	192.0
	GRAND TOTAL	04	24		0500			20.0	192.0

PASSED AND HAS OBTAINED: SGPA 9.60 RESULT:

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245127751

24-DEO-2663 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : HARSHVARDHAN : DEEPAK KUMAR Father's Name

: PROMILA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	46 25	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	55 28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 27	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	47 27	40AG	100	А	8	04.0	32.0
	TOTAL	0390		0500			20.0	172.0
	GRAND TOTAL	0390		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127752

Regn. No. 24-DEO-2664

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : KAJAL
Father's Name : GURDEV
Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 26	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	44 27	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	49 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	56 29	40AG	100	0	10	04.0	40.0
5	MENL-515 STUDY OF GENRE: FICTION	58 27	40AG	100	0	10	04.0	40.0
	TOTAL	0392		0500			20.0	180.0
	GRAND TOTAL	0392		0500			20.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245127753

24-DEO-2665 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AANCHAL SAHOTRA

: SHIV KUMAR Father's Name : POONAM Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	49 26	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 22	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	42 28	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	50 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0375		0500			20.0	172.0
	GRAND TOTAL	0375		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127755

Regn. No. 24-DEO-2666

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : MOHIT
Father's Name : KRISHAN
Mother's Name : SANTOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 14	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	48 14	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 13	40AG	100	B+	7	04.0	28.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	51 14	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 20	40AG	100	А	8	04.0	32.0
	TOTAL	0325		0500			20.0	152.0
	GRAND TOTAL	0325		0500			20.0	152.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.60

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245127756

Regn. No. 24-DEO-2667

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MALIKA KHERA
Father's Name : SUNIL KHERA
Mother's Name : SEEMA KHERA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 21	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	54 18	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	58 28	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 27	40AG	100	A	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	54 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0389		0500			20.0	176.0
	GRAND TOTAL	0389		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

DATED:	JUN 26,20)25			
KURUKSHET	ERA				
Checked by	1		2.		
		(Clerk)		(Assistant)	

Banne

Data of issue _____

Roll No. 245127757

Regn. No. 24-DEO-2668

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : BHARTI
Father's Name : BIJENDER
Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	58 22	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 23	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	54 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	54 25	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	55 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0394		0500			20.0	176.0
	GRAND TOTAL	0394		0500			20.0	176.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

DATED:	JUN 26,202	25		
KURUKSHET	ERA			
Checked by	1		2	

(Clerk)

Banne

CONTROLL		Λ TT \cap NIC
		4 1 11 11 11 7

Data of issue _____

Roll No. 245127760

Regn. No. 24-DEO-2669

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : ROHIT KUMAR
Father's Name : GANESH THAKUR

: LALITA DEVI

Mother's Name

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 19	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	32 19	40AG	100	В	6	04.0	24.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	53 26	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	49 24	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	51 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0355		0500			20.0	164.0
	GRAND TOTAL	0355		0500			20.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				



Roll No. 245127763

24-DEO-2670 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : KULDEEP SINGH : KARAMBIR SINGH Father's Name : ANGURI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	51 18	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	44 16	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	43 27	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 25	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	41 25	40AG	100	А	8	04.0	32.0
	TOTAL	0335		0500			20.0	156.0
	GRAND TOTAL	0335		0500			20.0	156.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.80

DATED:	JUN 26,2025		
KURUKSHET	ERA		
		2	

Data of issue

Checked by 1.

Roll No. 245127764

24-DEO-2671 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : SHIVALI SHIVALI : RAKESH KUMAR Father's Name : SUNITA RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	49 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	35 28	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	38 29	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	37 29	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	40 27	40AG	100	А	8	04.0	32.0
	TOTAL	0339		0500			20.0	160.0
	GRAND TOTAL	0339		0500			20.0	160.0

PASSED AND HAS OBTAINED: SGPA 8.00 RESULT:

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245127765

Regn. No. 24-DEO-2672

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SIMRAN HURRIA

Father's Name : GULSAN Mother's Name : KAVITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	51 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	55 19	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	51 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48 25	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	49 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0378		0500			20.0	172.0
	GRAND TOTAL	0378		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1		2.		
		(Cleri	k)	(Assistant	t)



Roll No. 245127766

24-DEO-2673 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : NEELAM

: RAM PRASAD YADAV Father's Name : PUSHPA YADAV Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	53 22	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	42 22	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	43 27	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 27	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	48 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0357		0500			20.0	164.0
	GRAND TOTAL	0357		0500			20.0	164.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.20

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 245127769

Regn. No. 24-DEO-2674

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : SACHIN CHAHAR

Father's Name : JAGBIR Mother's Name : MUKESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	47 17	40AG	100	B+	7	04.0	28.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	49 22	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 19	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	48 26	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	57 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0356		0500			20.0	160.0
	GRAND TOTAL	0356		0500			20.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Cle	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				



Roll No. 245127770

Regn. No. 24-DEO-2675

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : DEEPESH DEVSHALI

Father's Name : P D DEVSHALI
Mother's Name : KUSUM DEVSHALI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	54	27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	53	28	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	56	30	40AG	100	0	10	04.0	40.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	50	29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	56	28	40AG	100	A+	9	04.0	36.0
	TOTAL		0411		0500			20.0	184.0
	GRAND TOTAL		0411		0500			20.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

DATED :	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)



Roll No. 245127772

24-DEO-2676 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : VEENA

: RAJENDER SINGH Father's Name : KAPTAN DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	57 25	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 25	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 26	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	52 20	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	56 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0384		0500			20.0	172.0
	GRAND TOTAL	0384		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245127774

24-DEO-2677 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : MANISH KUMAR : BHOLA PRASAD SAH Father's Name

: SAVITA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 21	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	46 17	40AG	100	B+	7	04.0	28.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	52 28	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	45 25	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	47 22	40AG	100	А	8	04.0	32.0
	TOTAL	0358		0500			20.0	164.0
	GRAND TOTAL	0358		0500			20.0	164.0

PASSED AND HAS OBTAINED: SGPA 8.20 RESULT:

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

Regn. No.

Roll No. 245127777

24-DEO-2678

RESULT-cum-DETAILED MARKS CARD

MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : AYANTIKA DAS Father's Name : ARPAN DAS Mother's Name : SRABANTI DAS

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	55 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	44 28	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	43 29	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	46 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	48 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0377		0500			20.0	172.0
	GRAND TOTAL	0377		0500			20.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.60

		(Cle	erk)		(Ass	sistant)	
Checked by	1.			_ 2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					



Roll No. 245127784

Regn. No. 24-DEO-2679

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : VIKAS SAINI
Father's Name : SHIVDAYAL SAINI
Mother's Name : KIRAN SAINI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	48 27	40AG	100	A+	9	04.0	36.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	58 26	40AG	100	A+	9	04.0	36.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	46 29	40AG	100	A+	9	04.0	36.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	47 29	40AG	100	A+	9	04.0	36.0
5	MENL-515 STUDY OF GENRE: FICTION	48 26	40AG	100	А	8	04.0	32.0
	TOTAL	0384		0500			20.0	176.0
	GRAND TOTAL	0384		0500			20.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

•			(Clark)		(Accictant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,	2025				



Roll No. 245127787

Regn. No. 24-DEO-2680

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM : MAR- 2025 (ENGLISH-CBCS-CDOE)

Name : TANISH Father's Name : DHARMENDER

Mother's Name

: NEELAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	52 19	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	50 15	40AG	100	А	8	04.0	32.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	48 18	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	39 25	40AG	100	B+	7	04.0	28.0
5	MENL-515 STUDY OF GENRE: FICTION	44 12	40AG	100	B+	7	04.0	28.0
	TOTAL	0322		0500			20.0	152.0
	GRAND TOTAL	0322		0500			20.0	152.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.60

		(CI	lerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



CONTROLLER (OF EX	XAMINAT	TONS
--------------	-------	---------	------

Roll No. 245127789

24-DEO-2681 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF ART SEMESTER-01 EXAM: MAR- 2025

(ENGLISH-CBCS-CDOE)

Name : KAMAL KUMAR : MAHINDER SINGH Father's Name

: OM DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MENL-511 LITERATURE IN ENGLISH: 1550-1660 I	46 19	40AG	100	А	8	04.0	32.0
2	MENL-512 LITERATURE IN ENGLISH: 1660-1798 I	26 20	40AG	100	С	5	04.0	20.0
3	MENL-513 LITERATURE IN ENGLISH: 1798-1914 I	41 26	40AG	100	А	8	04.0	32.0
4	MENL-514 LITERATURE IN ENGLISH: 1914-2000 I	43 26	40AG	100	А	8	04.0	32.0
5	MENL-515 STUDY OF GENRE: FICTION	41 21	40AG	100	B+	7	04.0	28.0
	TOTAL	0309		0500			20.0	144.0
	GRAND TOTAL	0309		0500			20.0	144.0

PASSED AND HAS OBTAINED: SGPA 7.20 RESULT:

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk)

(Assistant)